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TNPSC GROUP I PRELIMINARY EXAM 
03.01.2021 

 

1. The source of dendrothermal energy is 
a. Biomass   b. Coal   c. Pyrolysis 
d. Natural gas  e. Answer not known 
kuntg;g Mw;wypd; (dendrothermal energy) Mjhuk; vd;Gj 
a. caph;j;jpus;  b. epyf;fhp   c. ntg;grpijT 
d. ,aw;if thA  e. tpil njhpatpy;iy 

 
2. Which of the following is the consequence of climate change 

related warming rivers? 
a. Changes in water salinity   
b. Changes in fish migration patterns 
c. Changes in pathogen load   
d. Changes in contaminant levels 
e. Answer not known    
gpd;tUtdtw;wpy; vJ ejpfspd; fhyepiy njhlh;ghd 
ntg;gkakhjypd; tpisT? 
a. ePh; cg;Gj;jd;ik khw;wq;fs;  
b. kPd;fs; ,lg;ngah;T Kiw khw;wq;fs; 
c. Neha;f;fphpkpfs; vz;zpf;if khw;wq;fs; 
d. ePh; mRj;j kl;lj;jpy; khw;wq;fs; 
e. tpil njhpatpy;iy 

 
3. The Chairperson of National Disaster Management Authority is 

a. Prime Minister   b. Home Minister   
c. The President   d. Defense Minister  
e. Answer not known 
Njrpa Nghplh; Nkyhz;ik Mizaj;jpd; jiyth; 
a. gpujk ke;jphp   b. cs;Jiw ke;jphp   
c. [dhjpgjp    d. ghJfhg;Gj;Jiw ke;jphp  
e. tpil njhpatpy;iy 

 
4. The most important schedule tribes of Uttar Pradesh and 

Uttarakhand 
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a. Todas  b. Nagas   c. Santhals 
d. Tharus  e. Answer not known 
cj;jpugpuNjrk; kw;Wk; cj;jufhz;bd; kpf Kf;fpakhd 
goq;Fbapdh; 
a. Njhlh;  b. ehfh;    c. rhe;jy;]; 
d. jhu];  e. tpil njhpatpy;iy 

 
5. The most populous State of India is 

a. Bihar  b. Maharastra   c. Uttar Pradesh 
d. West Bengal e. Answer not known 
mjpf kf;fl;njhifia nfhz;l ,e;jpa khepyk; 
a. gPfhh;   b. kfhuh~;buk;   c. cj;jpug;gpuNjrk; 
d. Nkw;F tq;fk; e. tpil njhpatpy;iy 

 
6. The total no. of railway zones in India are 

a. Fourteen Zones  b. Fifteen Zones  c. Sixteen Zones 
d. Seventeen Zones  e. Answer not known 
(School Book Source: Sixteen Zones) 
,e;jpahtpy; uapy;Nt kz;lyq;fspd; nkhj;j vz;zpf;if 
a. gjpdhd;F kz;lyq;fs;  b. gjpide;J kz;lyq;fs; 
c. gjpdhW kz;lyq;fs;   d. gjpNdO kz;lyq;fs; 
e. tpil njhpatpy;iy 

 
7. __________ soil is found in all the districts of Tamil Nadu except 

Nilgris 
a. Red soil  b. Black soil  c. Laterite soil 
d. Sandy soil e. Answer not known 
_______ kz; tif> jkpo; ehl;by; ePyfphpia jtpu kw;w 
midj;J khtl;lq;fspYk; fhzg;gLfpwJ 
a. nrk;kz;  b. fhpry; kz;   c. JUf;fy;kz; 
d. kzy; kz; e. tpil njhpatpy;iy 

 
8. Identify the option in which the rivers are given in North-south 

sequence 
a. Godavari – Mahanadi – Kaveri – Krishna 
b. Mahanadi – Godavari – Krishna – Kaveri 
c. Krishna – Kaveri – Godavari – Mahanadi 
d. Kaveri – Godavari – Mahanadi - - Krishna 
e. Answer not known 
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tlf;F-njw;F thpirapy; MWfs; nfhLf;fg;gl;Ls;s xd;iw 
milahsk; fhz;f 
a. Nfhjhthp - kfhejp - fhNthp – fpU~;zh 
b. kfhejp – Nfhjhthp – fpU~;zh – fhNthp 
c. fpU~;zh – fhNthp – Nfhjhthp – kfhejp 
d. fhNthp – Nfhjhthp – kfhejp – fpU~;zh 
e. tpil njhpatpy;iy 

 
9. Which of the following rivers originate in Karnataka? 

I. Bhavani II. Palar  III. Pennaiyar  IV. Cauvery 
Choose the correct one 
a. I, II, III  b. IV, I, II    c. III, IV, I   
d. II, III, IV  e. Answer not known 
fPo;f;fz;ltw;Ws; ve;j MWfs; fh;ehlf khepyj;jpy; 
cw;gj;jpahfpd;wd? 
I. gthdp II. ghyhW  III. ngz;izahW IV. fhtphp 
rhpahdtw;iw Njh;e;njLf;fTk; 
a. I, II, III  b. IV, I, II    c. III, IV, I   
d. II, III, IV  e. tpil njhpatpy;iy 

 
10. Pick out the effect that is not related to the impacts of Earthquake 

a. Fissures   b. Collapse   c. Tsunamis 
d. Depression zone formation e. Answer not known 
G+fk;g ghjpg;GfNshL njhlh;gw;w tpisit njhpT nra;f.  
a. gpsTfs;   b. jiukl;lkhjy;  c. Rdhkpfs;  
d. jho;T kz;lyk; cUthjy;  e. tpil njhpatpy;iy 

 
11. Match the following 

A. Backwaters 1. Linking up of river system for irrigation 
B. Canals  2. Used of crossing broad river 
C. Dug out Canoe 3. Connecting one water way with other 
D. Dams  4. Used for some limited navigation 

 A B C D 
a. 4 3 2 1 
b. 3 2 1 4  
c. 4 2 3 1 
d. 3 4 2 1 
e. Answer not known 

nghUj;Jf. 
A. fop   1. Mw;iw ghrdj;jpw;fhf gad;gLj;j 
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B. fhy;tha;  2. nghpa Mw;iw flf;f 
C. Fopfhy;tha; 3. xU ePh; topia kw;wNjhL ,izf;f 
D. miz  4. FWfpa mstpw;F Md ePh; Nghf;Ftuj;J 

 A B C D 
a. 4 3 2 1 
b. 3 2 1 4  
c. 4 2 3 1 
d. 3 4 2 1 
e. tpil njhpatpy;iy 

 
12. What is Density of Population? 

a. The number of people living in per (one) sq.km. 
b. The number of people living in 10 sq. km. 
c. The number of people living in 100 sq. km. 
d. The number of people living in 200 sq. km. 
e. Answer not known 
kf;fl;njhif nrwpT vd;why; vd;d? 
a. xU rJu fpNyh kPl;lhpy; trpf;Fk; kf;fspd; vz;zpf;if 
b. 10 rJu  fpNyh kPl;lhpy; trpf;Fk; kf;fspd; vz;zpf;if 
c. 100 rJu fpNyh kPl;lhpy; trpf;Fk; kf;fspd; vz;zpf;if 
d. 200 rJu fpNyh kPl;lhpy; trpf;Fk; kf;fspd; vz;zpf;if 
e. tpil njhpatpy;iy 

 
13. Why India has not become self-reliant in edible oil productions? 

I High cultivation cost 
II Low productivity 
III Lack of Government support 
IV Deficient domestic demand 
a. II only  b. I and III   c. I, II and III   
d. I only   e. Answer not known 
rikay; vz;nza; cw;gj;japy; Vd; ,e;jpah jw;rhh;G 
milatpy;iy? 
I $Ljyhd rhFgb nryT 
II Fiwe;j cw;gj;jp jpwd; 
III muR MjuT ,y;iy 
IV Nghjpa cs;ehl;L Njit ,d;ik 
a. II kl;Lk;  b. I kw;Wk; III  c. I, II kw;Wk; III 
d. I kl;Lk;  e. tpil njhpatpy;iy 
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14. Which one of the following agricultural practices is ecofriendly? 
a. Organic farming     
b. Shifting cultivation 
c. Cultivation of high yielding varieties  
d. Growing plants in glass houses 
e. Answer not known 
gpd;tUk; tptrha Kiwfspy; vJ #oy; el;G? 
a. fhpk Ntshz;ik      
b. rhFgb khw;wk; 
c. mjpf kf#y; jUk; tiffspd; rhFgb 
d. fz;zhb tPLfspy; tsUk; jhtuq;fs;   
e. tpil njhpatpy;iy 

 
15. Consider the following statement. 

1. Bihar, Madhya Pradesh, Rajasthan and Uttar Pradesh have 
very high population. 

2. In India, Kerala has the lowest birth rate 
3. West Bengal has the lowed death rate 

4. The density of the population is 
Total Population

Land areaof theregion
 

Among these, which are the correct one(s)? 
a. 1 and 3   b. 2 and 3   c. 1, 2 and 4 
d. 3 and 4   e. Answer not known 
gpd;tUk; $w;iw ftdpf;f. 
1. gPfhh;> kj;jpa gpuNjrk;> ,uh[];jhd; kw;Wk; cj;jpu gpuNjrk; 

Mfpait mjpf kf;fs; njhif nfhz;l khepykhFk;. 
2. Nfush kpff; Fiwe;j gpwg;G tpfpjk; nfhz;Ls;sJ. 
3. Nkw;F tq;fhsk; kpff; Fiwe;j ,wg;G tpfpjj;ij 

nfhz;Ls;sJ. 

4. kf;fs; njhif mlh;j;jp vd;gJ 
nkhj; jk;kf;fl;njhif

mg;gFjpapd ; epyg;gug;G
 

NkNy fz;ltw;Ws; rhpahdit vit? 
a. 1 kw;Wk; 3  b. 2 kw;Wk; 3  c. 1> 2 kw;Wk; 4 
d. 3 kw;Wk; 4  e. tpil njhpatpy;iy  

 

 

 

 



 

7 | P a g e  APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187 
 
 

AGRICULTURE & HORTICULTURE  
GS (18.04.2021) 

 
1. Match the Wild Life sanctuaries in India with respective state: 

A. Bhitarkanika   1. Goa 
B. Nokrek    2. Odisha 
C. Dalma    3. Meghalaya 
D. Bondla    4. Jharkhand 

 A B C D 
 a.  2 3 4 1 
 b. 1 2 3 4 
 c. 3 4 1 2 
 d. 3 4 1 2 
 e. Answer not known 
,e;jpahtpd; td tpyq;F ruzhyq;fis mjd; khepyq;fSld; 
nghUj;Jf:  
A. gpj;jh;fdpfh   1. Nfhth  
B. Nehf;nuf;   2. Xbrh  
C. lhy;kh    3. Nkfhyah  
D. nghd;l;yh   4. [hh;fz;l;  

 A B C D 
 a.  2 3 4 1 
 b. 1 2 3 4 
 c. 3 4 1 2 
 d. 3 4 1 2 
 e. tpil njhpatpy;iy 
 

2. When is the Sivalik hill located?  
a. Outer Himalaya  b. Greater Himalaya  
c. Sub –Himalaya   d. Central Himalaya  
e. Answer not known 
rpthypf; kiy vq;F mike;Js;sJ?  
a. ntspg;Gw ,kakiy   b. cah; ,kakiy  
c. cg-,kakiy    d. kj;jpa ,kakiy  
e. tpil njhpatpy;iy  

 
3. Assertion (A) : Attitude of the eastern Himalayas increases rapidly  

      unlike Western Himalayas 
Reason (R)   :  World’s highest peaks, Everest and Kanchanjunga are  
   situate in the vicinity of Bihar and West Bengal Plains  
a. Both (A) and (R) are true and (R) is the correct explanation of (A)  
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b. Both (A) and (R) are true and but (R) is not the correct explanation 
of (A) 
c. (A) is true but (R) is false 
d. (A) is false but (R) is true   
e. Answer not known 
$w;W (A) : fpof;F ,khya kiyj;njhlhpd; cauk; Nkw;F ,khya  
    njhliuNghy; my;yhky; tpiue;J cah;fpd;wJ. 
fhuzk; (R) : cyfpd; kpf caukhd rpfuq;fshd vtu];l; kw;Wk;  
    fQ;rd;[q;fh Nghd;wit mike;jpUg;gJ gP̀ hh; kw;Wk;  
    Nkw;Ftq;f rkntsp gFjpapd; ghh;itapy; 
mike;Js;sJ.  
a. (A) kw;Wk; (R) ,uz;Lk; rhp> NkYk; (R), (A)-apd; rhpahd tpsf;fk; 
MFk;  
b. (A) kw;Wk; (R) ,uz;Lk; rhp> Mdhy; (R),(A) – apd; rhpahd 
tpsf;fky;y  
c. (A) rhp> (R) rhpay;y  
d. (A) rhpahdJ my;y> (R) rhpahdJ  
e. tpil njhpatpy;iy  

 

ASSISTANT AGRICULTURAL 
OFFICER  

(17.04.2021)  
 

1. Identify the ports of India labelled as 1,2,3 and 4 in the given Rough 
map of India. 

 
a. Haldia, Paradeep , Masulipatinam, Tuticorin 
b. Paradeep, Haldia, Masulipatinam, Tuticorin 
c. Tuticorin, Masulipatinam, Paradeep , Haldia 
d. Masulipatinam, Tuticorin, Haldia, Paradeep 
e. Answer not known 
nfhLf;fg;gl;Ls;s Njhuha ,e;jpa tiuglj;jpy; 1> 2> 3 kw;Wk; 4 vd;W   

  Fwpf;fg;gl;Ls;s ,e;jpa JiwKfq;fisf; fz;lwp 
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a. `hy;bah> ghujPg;> k#ypg;gl;bdk;> J}j;Jf;Fb 
b. ghujPg;> `hy;bah> k#ypg;gl;bdk;> J}j;Jf;Fb 
c. J}j;Jf;Fb> k#ypg;gl;bdk;> ghujPg;> `hy;bah 
d. k#ypg;gl;bdk;> J}j;Jf;Fb> `hy;bah> ghujPg; 
e. tpil njhpatpy;iy 

 
2. Which of the following statement has the Risk Reduction measures 

for cyclone? 
I. Ignore rumors, stay calm don’t be panic. 
II. Keep your documents and valuables in water proof containers. 
III. Prepare an emergency kit’s with essential items for survival  
IV. Switch on all the electrical appliance 
a. I, II and III are correct  b. I and II are correct   
c. III and IV are correct   d. IV only correct    
e. Answer not known 
nfhLf;fg;gl;Ls;s ve;j thf;fpak; Gaypd; NghJ gpd;gw;w Ntz;ba 
mgha Njh;T Fiwg;G eltbf;iffs; 
I Njitaw;w tje;jpfisAk;> gjw;wj;ijAk; jtph;j;jy; 

mikjpfhf;fTk; 
II Kf;fpakhd Mtzq;fisAk; kw;Wk; clikfisAk; jz;zPh; Gfhj 

ngl;lfj;jpy; gj;jpukhf itf;fTk; 
III caph; tho mtru cjtp ngl;lfj;ij jahh;epiyapy; 

itj;jpUf;fTk; 
IV midj;J kpd;rhu rhjdq;fspd; kpd;,izg;igAk; Jz;bf;f 

Ntz;lhk;. 
a. I, II kw;Wk; III rhpahdit   b. I kw;Wk; II rhpahdit 
c. III kw;Wk; IV rhpahdit   d. IV kl;Lk; rhpahdJ 
 e. tpil njhpatpy;iy 

 
3. Match the following rivers with its place of origin using the codes 

given: 
Rivers    Place of Origin 
A. The Indus   1. Gangotri 
B. The Brahmaputra 2. Chemayungdung 
C. The Ganga   3. Mahabaleshwar 
D. The Krishna  4. Manasarovar 
 A B C D 
a. 4 1 2 3 
b. 3 2 4 1 
c. 4 1 3 2 
d. 2 3 4 1 
e.  Answer not known 
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fPNo nfhLf;fg;gl;Ls;s ejpfis mjd; cw;gj;jp MFk; ,lq;fNshL 
nghUj;jp FwpaPLfis gad;gLj;jp tpilaspf;fTk; 
 ejpfs;  cw;gj;jpahFk; ,lk;  
A. rpe;J ejp   1. fq;Nfhj;hp 
B. fq;if ejp  2. nrk;khAq;lq; 
C. gpuk;kGj;jpu ejp 3. kfhgNy~;th;  
D. fpU~;zh ejp  4. khdrNuhth;   
A B C D 
a. 4 1 2 3 
b. 3 2 4 1 
c. 4 1 3 2 
d. 2 3 4 1 
e.  tpil njhpatpy;iy  

 
4. Consider the following statements and select the correct answer: 

Assertion (A): The developed countries have a low growth rate of  
   population. 
Reason (R): African countries are having highest growth rate of  
population 
a. (A) and (R) are correct and (R) is the correct explanation of (A) 
b. (A) and (R) are correct but (R) is not the correct explanation of 

(A) 
c. (A) is true but (R) is false 
d. (A) is false but (R) is true 
e. Answer not known 

 fPo;f;fz;l thf;fpaq;fis ftdpj;J rhpahd tpiliaj; Njh;e;njL. 
 $w;W (A) : tsh;e;j ehLfs; Fiwthd kf;fs;njhif tsh;r;rpiaf;  
      nfhz;Ls;sJ.  
  fhuzk; (R): Mg;gphpf;f ehLfs; mjpfkhd kf;fs;njhif tsh;r;rpiaf;  
       nfhz;Ls;sJ.  
  a. (A) kw;Wk; (R) ,uz;Lk; rhp> NkYk; (R) vd;gJ (A) tpw;F rhpahd  
     tpsf;fk;  
  b. (A) kw;Wk; (R) ,uz;Lk; rhp> Mdhy; (R) vd;gJ (A) tpw;F rhpahd  
    tpsf;fk; my;y  
  c. (A) rhp Mdhy; (R) jtW  
  d. (A) jtW Mdhy; (R) rhp  
  e. tpil njhpatpy;iy  
 

5. Which method has been used to identified biodiversity through 
remote sensing and GIS? 
a. Data analysis    b. Gap analysis 
c. Statistical analysis   d. Scientific analysis 
e. Answer not known 
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njhiy Ez;Zzh;T kw;Wk; Gtpapay; jfty; njhFjp %ykhf 
caphpdg; gd;ikag; gFjpia milahsk; fhz cUthf;fg;gl;l Kiw 
vJ?  
a. juTg; gFg;gha;T Kiw   b. ,ilntspg; gFg;gha;T Kiw  
c. Gs;sptptug; gFg;gha;T Kiw  d. mwptpay; gFg;gha;T Kiw  
e. tpil njhpatpy;iy  

 


